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Onie who believes in God

A) God Lover B) agnostic ©) theist ) atheist
Heart specialist

A) pynaccologist B) eardiologist ) oncologist 13) heart doctor
One who is difficult (o please

A) angry B) atheist C) fastidious [3) indignant
One who believes in strict diseipline

A) martinet B} stickler C) hnesh 1) rigorous
Find the correct sentence

A) Fwill give the test, B) I will take the test,

C) Iwill go for the test. [3) 1 will appear the test,

Find the right senience

A) He looks like his mother, B} He is like his mother in the face.
C) He resembles with his mother. D) He resembles his mother,

Find the right sentence

A) The hen gives the eggs. 1) The hen yields the eggs.

) The hen lays the eggs. 13} The hen tokes out the egps.
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Find ihe right senience

A) The mother is setting the inble, 1) The mother is placing the inble,

) The mother is laying the wble. [3) The mather is putling the tahle.
Find the o ght sentense

A) The food is tsteful. 1) The food is tsty.

1) The Tood is full of tosle, 13) The food has good tasie,

Find the right sentence

A | rarely po 1o my village. B) | soarcely go to my village,

C) | hardly go to my village. 133 1 o to my village very less.

Find the right choice

A) 1 am studying for n seience degree 14) 1 am studying lor n degree of science
) 1 am studying for » scienlilic degree 13) | am studying for degree in sojence
Find the right senlence

A) He ngreed with my views. B) He agreed in my views,

) He agreed on my views, [3) He ngreed 1o my views,

Find the right cquivalent for PLACID

A) beautiful %) querilous C) fighter 13} calim

Find the right equivalent for PRECARIOUS

A) exeellent ) precious ) dangerons 13) ehenp

Finiel the right equivalent for ELUSIVE
A)excluglve  BYinclusive ) diMieali to T out 13) ensy (o find oul

Find the right equivalent Tor GENLAL

A) general B) army allicer ) mnry 1) friendly
Choose the right spelling

A) benefited B) benolitied ) bennefited 13) bennifitied
Give the opposite word for GLORIOUS

M) ungloricus 13 bad ) nistorious 13} inglorious
Give the opposite word for NOBLE

A) unnovel [} innovel ) nobleless 13} ignoble
Giive the noun form for MORTAL

A) mortalness B) moralty ) mordality 133 mortillity
Where are the headquanters of Ahmadiyya sect of Muslims in Punjab?

A) Patinla B) Malerkotln ) Qadinn 12) Sirhimnd
Where is the Khalss Hertage centre in Punjab?

A) Patinln 1) Amiritsar ) Anondpur Sahib 1) Chandigarh
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43,  How much is Punjab’s population density?
A) 550 per sg. km.  B) 1000 per sq, km,  C) 400 per sq. km. D) 200 per sq.km.

44,  First Chiel Minister of Fasi Punjab
A) Partap Singh Eabron [} Bhim Sen Sachar
) Gopi Chand Bhargava 13} Ciinni Zail Singh

45, In which book the name of our provinee Punjab was first mentioned
A} Mahabharata B Ramayana C) Rig Vedn 1) Taarkh-i-Sheishah Suri

46,  How many pages are there in Gura Granth Sahib?

A) 1090 1) 1580 ) 560 D) 1430
47, Who among the following i the winner of Bhartiya Jnanpith Award?
A) Bhal Vir Singh 1) Bhai Jodh Singh  C) Surjit Patar 13y Gurdinl Singh
i8, Whi wrole Quissa Mirza Sahiban?
A Damodar %) Wariz Shah C) Shah Mohamed D) Peclu
49,  Who wrote the *Anrll® O Jai Jaglish?
A) Bhai Gurdas B} G Arjan Dev
C) Jud Shankar Prasad ) Pandit Shardha Ram Phillouri
50. Who established the first *Sikh Raj*?
M) G Gobind Singh Ji H) Baba Banda Singh Bahadur
C) Hari Singh Nalwa 1) Maharajn Ranjil Singh
51, How many fundamenial rights were there originally in our Constitution?
A) 10 B 6 Cy8 D)7
52, By which mmendmaent wis the Right to Properly remived?
Apths B 10" cya™ [) 44"
53. Articles 14 to |8 in the Constitution, constitule [
A) Dircetive Principles B} Fundamental Riglhts
) Rights to Freedom 13) Rights to Equality
54.  Which Article in the Conatitution gusrantecs Right to Constitutional Remedics?
A) 12 3y 14 " Cy20 a2

55, The President of Indin can return a Bill to the House of Parlinment
A)uny number of times B) nol even once C) only onee D) twice

56. A member of Rajya Sabla is elected for

A) 2 years B) & years C) 3 years D} indefinitely
57, Who presides over the joint sitting of Lok Sabha and Rajya Sabha?
A) The President H) The Spenker of the Lok Sabha

() The Chairman, Rajya Sabha 1) The Minister of Parliamentary AfTalrs
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The guornm of the Parliament is fixed at

A) one hall of the members of the House  B) one third of the members of the House
C) one tenth of the members of the House 1) one fourth ol the members of the House

Who can dissolve the Rajya Sabha?
A) The Prime Minister ) The Mresident
) The Speaker ol the Lok Sabha %) 1t eannot be dissolved

Muximum age lor the olfice of President is
A) 100 yeurs B) 90 yenrs ) 80 years 1) not fixed

Which of the following ericketer has been honoured with o lifetime achievement
award al o ceremony in the Howse of Lords, London on Sept. 25, 2014 7
A) G.R. Vishwonath - B) S M. Gavaskar  C) Dilip Vengsarkar 13) Kapll Dev

Pankaj Advani playy
A) khio-kho B} knbaddi (") haskethal| 13} billiards

The only Indian to win an Olympic Gald Medal in an individual event is
A) Milkha Singh 1) Phyan Chand ') Abhinav Bindm 1) Balbir Singh

The first Indinn (o be promoted 1o the mnk of Marshal of the Air Foroe is

A) General Jagjit Singh Aurora B) Sim Manckshaw

C) Air Chiel Marshal Dilbagh Singh 1) Air Chicl Marshal Aran Singh
Cireen. House elTecl is aboul:

A) growing more trees 1) saving saplings from lreczing cold

C) the Green Revolution in Punjab - D) the problem of gradual rise in temperature
Which gas protects the earth from sun's ulten violet rays?

A) oxypen B) COy €) nitrogen 13) ozone
Systolic pressure is abaut

A) low blood pressure 1B3) low nir pressure

) high air pressure 13) high blood pressure
Who is the first man io ron o mile undes Tour minutes?

A) John Landy i) Herb Eliot ) Roger Bannister D) Millkha Singh
First man 1o sel fool on Mount Bverest is

A Sir John Hunt ) Mujor Ahluwnlia

) Edmume Hillary 1)) Tenzing

The Chairman of the Constituent Assembly of Indin was

A) Jnvwnhardal Nehrg 1) Mahatmn Ciandhi

C) Rajendra Prasad 1) Sacdar Patcl
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Bilawnl Bhullo is

A) an notlor 4] an athlote ) a scicntist 13} a politician
Dilma Roussell is

A the Chief Justice of Romania A) the President of Russin

C) the Prime Minister ol Nepal 3} the President of Bracil

Savita Devi, the boxer i5 in news, becnnse

A) she his been given an Arjuna Award

B) she won o gold medal Tor India in Astan Games

() she has been banned by Internstionsl Boxing Associstion
13) she has become a Bollywood heroine

Wha is Indin"s National Seeurily Adviver?
A) Genernl Bikmm Singh By Kanwal Sibal ) Ajil Doval 13} Kiran Bedi

Wh:}' i Indin's Chief Election Commigsioner”!

A) Manphar Singh Gill B) Kiran Bedi  C) V.5 S8ampnth  12) Naveen Chawla
Which lndian recently won a Mobel Peace Prize?

A) Chandrasekhar 1) Hargobind Khorans

) Malala ¥ ousalii ) Kailnsh Satynithi

Xi Jinping is

A) the President of China 1) the Prime Mindster of China

) the Emperor of lnpai 13) the Prime Minister of South Koren

How many people ook part in the Global Call of climate protection in New York on
Sept. 21, 20147

. A) 1 lac B} 2 lacs €} 3 lacs ) # Incs:

Whao is the Chairperson ol Wational Comimission far Women?
A} Kiran Bedi  B) Barkha Duit €} Lalithn Kumaramanglam 1) Maneka Ceindhi

17" Asitin Games were beld in
A) Tokyo 1) New Delhi C) Incheon [3) Bingapore

Frofm i point on o bridge acrogd (he river, the angles of depression of thie banks on
opposite sides ol the river are 30" and 45" respectively. [T the bridge is at a helght of

2.5 m from the banks, find the width of the river. (Take 3 = 1,732)

A)S.T8m 1) 6,83 m ¢y 1.24m MeTm
The 3 term of a geometrical progression is 4. The produet of First 5 lerms is
Ay 4! H) 4! ) 4 4
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83, A watch which gains § secands in 3 minutes was set right al 7 wm, In the aflernoon
“af the same day, when the watch indicated quarter past 4 O'clock, the correet thme is

A) 595 minpast 3 B4 pm. ) 58-% min past 3 I:i]i% min past 4

&4, A rectangular tank meastring (Sm * 4.5m % 2.1m) is dug in the centre of the field
measuring 13.5 m * 2.5 m. The earth dug out is apread evenly over the remaining
portion of the field, How much is the level of the field rolsed?

A) 4m B)4.1 m Cyd.2m 1343 m

85, Al what rale of interest will Rs. 20000 become Rs, 24200 after 2 years when interest
is compovnded annually 7
A) 5% 1) 6% ) 10% ) 15%

86,  How much water must be added to a bucket which contains 40 litres of milk at a cost
price of Rs.3.50/itre o0 that cost priee of milk reduces to Rx.2/1itre 7
A) 25 litres 13) 28 litres ) 35 litres 33 30 litres

£7.  Two teaing renning in opposile direclions cross a man atanding on the platform in 27
seconds and 17 seconds respectively and they cross each other in 23 scconds. The
ratio of their speed is
A)3:2 1) 1:3 )34 1) none of these

88, The speeds of trains A and B are fin the ratio 3:4. A takes 20 minutes more than B 1o
reich o destination. In what time does A reach the destination®?

Ay 15 hs ) 2 ties C) 12 hrs D) 2% hrs
89, A can do 1/4™ part of the work in 10 days, B can do 40% of the work in 40 days wnd

C can do 173" of the work in 13 days. Who will camplete the work first?
AYA H)B Qe - D) A and € both

g, A retailer buys a sewing machine at a discount of 15% and sells it for Re. 1955, Thos
he makes o profit of 15%. The discount is

A) Ri. 270 B) Rs, 300 ©) Rs. 290 1) Rs. 310
91.  Find the odd one mumber-letter group among the following

i) OFE3 i) XD6 iif) JBs iy) VK2 v) PH

A) i) ) i) C}iv) D) ¥)

92 In & ceriain code *T86" means *study very hard', *058" means ‘hard work pays’ wid
"645" means *study and wark'. Which of the following is the code of *very”

AT B) 8 )6 )9

g3,  (is A's father’s nephew. D is A's cousin but not the brother of C. How is D related
lo CF
A) [nther 13) sister ) mother 1)

G ACH-24936-A I}I Cantd.
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9.  Ravi amd Kunal are pood in Hockey & Volleyball, Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal e good in Cricket and Volleyball, Sachin,
Claurny nnd Michoel are pood in Football and Baseball,

Who s good in Baseball, Cricket, Volleyball and Foolball?
A) Sachin B Kunnl ) Cinuray D) Ravi

95, A man rung 20 m lownrds Bast ond tums (o right and ung 10 mthen turos sight and
mns 9 m. He again tnms o his left again mnd rons 5 m ihen s left and rons 12 m
and finally turns to lell and muns 6 m. Now in which direction he is facing?

A) Enst H) West ) North 13) South

96.  Which one of the following 5 words will come in the middle il these are amanged
alphabetically as in o dictionary?
1} cough iy comncil  {ii) couch iv) count v) counsel
A) ) B) ii) C) iv) D) v)

97, Situdy the armngement given below and answer the question that follows
RESDAPSITIQT9BH2K%UIMWA*IEN
Four of the five following are alike in a certain way based on their position in the
above arrangement and so form a group, Which one does not belong o that group?
i)y BK7 M GDDPE  i)WIL v)30P
A) D ) i) ) iv) D) v)

Y8, A person is asked (o pul in basket one apple when ardered ‘one’, ane gunva when
ordered ‘two', one orange when ordered *three” and is asked (o take oul one apple and
one guava both when ordered *four'. The order sequence executed by the person ls ag
follows
123321423142233141'13234
How many apples will be there in the basket at the end of the above order sequence?
A) A )3 C)2 D) 1

99, There is some relationship according to some rule between the letters and numerals
given in each row. Choose the correct alternative from the piven onet to replace the
question marks.

JN 28 27 P
CE 12 45 LY
LR T 7 MS
A) 34, 36 B) 30, 41 ) 30, 32 [3) 35, 35

100,  The two positions of the dice being given below, what will be the number m the
bottom il 5 isat the top 7

1]
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101, IF you wani a logo to appear on every slide at @ fixed location in o presentation
prepared using MS-PowerPoint, you should include it on the:

A) slide templnte 1) slide master ) slide document 1) slide lile
102, ‘The standard rules that many e-mail elients wse to handle outgoing-oail messages is
A) SMTP B) 5TMIP C) MIME 13 POP-3 e-mmil
103,  What is spam e-mnil?
A} Unsolicited commercialfnon-commercial e-mail By A Usenet archive
) A computer virog in e-mail 13) Haoking algorithm

104, A cookie isa
A) technique used 1o make intermel connection fast
13) small piece of data sont from o user's web browser and stored in a websile
€ small piece of dala sent from n website and stored in a user's web browser
1) malicious code just like virus

105, In Windaws operating system, with Disk Management system uiility, user can
A) initialize disks and create/format volumes with FAT, FATIZ, or NTFS file
systems,
) initialize disks and ereate/format volumes with NTFS file system only.
€) initinlize disks and create/format volumes with FAT/FATIZ file systems only.
) initiilize disks bil cannol ereate/format voltmes,

106, Which of following s true in context of Local Users and Groups in Windows

operating system?

A) A right suthorizes & user 1o perform certnin actions on n computer, such ns
bucking up fles and folders or shutiing down a compuier.

B) A permission isa rule that is associnied with an objeet (usually a file, folder, or
printer), and it regulates which users can have access 1o the object wnd in what
TTHATHINET ]

C) You can use Local Users and Groups to secure and manage user accounls s
groups that are stored locally on yoor compuier,

D) All of the above

107. By using Parental Controls feature of Windows operating system, a parent can
A) set time limils to control when children are allowed to log on 1o the computer,
13) determine which specific progrmms your child can use,
) do both (A) and (13}
1) not do any of (A) and (15)
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Directions : Assume the following student fee related MS-Excel dats for {Question
Mumbers 108, 109, 110)

108,

1A,

1o,

i1}

2

3

|14,

s, A O [ o1

| Mame Fee  Category
2 |Ganesh 100 GEN

3 Ram 130 GEN

A4 |Sham 150 SC

J i!unu 90 5C

6 Jiwan 50 GEN

7 doyli 130 5T

B Shiv 100 GEN

9 [Aarti 80 5C
Which formuls will ealeulate the sum of the fee collected from SC Category students?
A) =SUMIF(C2:9,"SC" B 2:89) B) “SUMIF(B2:139,"8C",02:C9)
) =SUMIF{"SC" B2:139,02:C9) 1) =SUMIF("SC",C2:09,B2:B9)

User want to print “Surplus” if the total fee collected s more (hin 500 otherwise print
‘Mot Surplos’. Which formula should be used?

A) =IF("Surplus” SUM(B2:B9)>500,"Not Surplus”)

B) =PRINT("Surplus®,"Not Surplus", IF(SUM(B2:B9)>500))

C) =IF(SUM(B2:B9)>500,"Surplus”, "Nol Surplus”)

D} Mo Formiila can be used

Whint will be the output of =COUNT(COUNT(B2:139),8)?

AR B)2 C) 16 D) Formula is incorrect
The shoricut key on keybonrd to check Spelling and Geammar in MS-Waord is

A) Fl B) F2 C) 7 Dy F1o
I wsier wants to select all text in MS-Word file, shorteut key is:

A)CTRL 4+ § H) CTRL +C

C)CTRL A+ A ' D) CTRL + V¥

What is gutter margin in MS-Word Pagelayout?

A) Margin that is added to the left margin when printing

1) Margin that is added to rdght margin when printing

C) Margin that is added to the binding side of pnge when printing
19) Margin that is added to the outside of the page when printing

Which of the following change is not available in MS-PowerPoint custom animation?
A) Entrance ) Exil ) Motion Path 1) Time

G ECH-2916-4 E} Comvial.
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115, “Phee Thessums ool in MS-Word
A) linds repesied words in the document
B) gives synonyms and antonyms words
) checks lor misspelled words as you Lype

13 none of the above

116, In MS-PowerPoint presentation, slide show can be started from

A) Beginning Slide B3) Curreni Slide
) Botl (A) and (B) sre correct [3) Mone of the above
117, Assume the URL: hitps:fwww,google comflogin
Carreel LIRL is;
A) hittptiwww, google.com/login 13) hitps:/fgoogle.comfogin
) hitp:ifgoogle, comflogin D) Assumed URL is correet
118, T the Intemet business, ISP stands lor;
A) Internel System Protocol B) Infermel Service Provider
) Internet System Provider DY Internet Service Protocol
119,  Which of the following is comeet e-mail id?
A) Test: Compuler.com B} Test.compulerfcom
) test@oomputer.com D) testg@holp: feomputer.com
120,  Which ol the following is a web browser?
A) Windows Explarer B) Internet Explorer
(%) Google.com 1) Yahoo.com
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